
  

 

Canada child benefit (CCB) - calculation sheet for the July 2023 to June 2024 payments (2022 base 
year) 

Canada child benefit (CCB) 

For each qualified dependant under age 6 (enter $7,437 X ___ )   $________(1) 

For each qualified dependant aged 6 to 17 (enter $6,275 X ___ )   $________(2) 

Subtotal (Add lines 1 and 2)       $________(3) 

Benefit reduction 

 If your adjusted family net income (AFNI) is $34,863 or less, do not complete Step 1 or Step 2. 
Enter “0” on line 12. 

 If your AFNI is greater than $34,863 up to $75,537, complete Step 1. Enter “0” on line 11 of 
Step 2. 

 If your AFNI is greater than $75,537, complete Step 2 

Step 1 

Enter your AFNI         $________(4) 

Base amount         $ 34,863 (5) 

Line 4 minus line 5 (enter the result or $40,674 whichever is less, or enter zero if the result is negative) 

$________(6) 

On line 7, enter the result based on the number of children:    $________(7) 

 7% of line 6 if you have one child 

 13.5% of line 6 if you have two children 

 19% of line 6 if you have three children 

 23% of line 6 if you have four or more children 

Step 2 

Enter your AFNI         $________(8) 

Base amount         $ 75,537 (9) 

Line 8 minus line 9, if negative, enter zero     $________ (10) 

On line 11, enter the result based on the number of children:    $________(11) 

 $2,847 + 3.2% of line 10 if you have one child 

 $5,491 + 5.7% of line 10 if you have two children 



  

 

 $7,728 + 8% of line 10 if you have three children 

 $9,355 + 9.5% of line 10 if you have four or more children 

Total benefit reduction (line 7 plus line 11)     $________(12) 

Annual CCB (line 3 minus line 12), if negative, enter zero    $________(13) 

Child disability benefit (CDB) 

If you do not have a qualified dependant with a disability, enter “0” on line 19. 

Number of each qualified dependant with a disability (enter $3,173 X ___ ) $________(14) 

Enter your AFNI         $________(15) 

Base amount         $ 75,537 (16) 

Line 15 minus line 16, if negative, enter zero     $________(17) 

On line 18, enter the result of the following:      $________(18) 

 3.2% of line 17 if you have one qualified dependant with a disability 

 5.7% of line 17 if you have two or more qualified dependants with a disability 

Annual CDB (line 14 minus line 18), if negative, enter zero   $________(19) 

Total annual Canada child benefit (add lines 13 and 19)    $________(20) 

Monthly Canada child benefit (line 20 divided by 12)    $________(21) 

 


